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Section 1:

1. The Indian economy is in a state of flux.
2. India has made significant progress in various areas such as technology,

infrastructure, and human development.
3. The biggest challenge facing India is the issue of poverty and inequality.
4. Despite recent economic growth, a large proportion of the population

still lives below the poverty line.
5. Policymakers and stakeholders need to address the issue of poverty

and inequality in India.

Section 2:

1. Cost price of the watch = Rs. 200
2. Ratio of their ages after 10 years = 6:7
3. Average of first 20 natural numbers = 10.5
4. Time taken to fill the tank = 8 hours
5. Sum = Rs. 3750

Section 3:

1. 'PURPLE' will be coded as 'KFOIVO'.
2. 'LEAF' will be written as 'NGCH' in the same code.
3. 'Basketball' is played with a bat.
4. 'PEN' will be written as 'HVS' in that code language.
5. There are three pairs of letters in the word 'REFLECTION' each of which

has as many letters between them in the word as in the English alphabet (E-I,
N-L, and C-F).
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